In this morning newspaper, you could find this Sudoku grid ...

Playing with arrays

AK1 AL1 AM1 I BN1 BO1 BP1 I Q1 CR1 cs1
5 3 7
AK2 AL2 AM2 I BN2 BO2 BP2 I Q2 CR2 cs2
7 4 8 9
AK3 AL3 AM3 I BN3 BO3 BP3 I Q3 CR3 cs3
1 4
DK4 DL4 DM4 I EN4 EO4 EP4 I FQ4 FR4 FS4
3 1
DK5 DLS DM5 I EN5 EOS5 EP5 I FQ5 FRS FS5
7 2 5 6
DKé DL6 DMé I EN6 EO6 EP6 I FQ6 FR6 FS6
6 1 8 3
GK7 GL7 GM7 I HN7 HO7 HP7 I 1Q7 IR7 157
1 5
GK8 GL8 GM8 I HN8 Ho8 HP8 I 1Q8 IR8 1s8
2 4 9 8
GK9 GL9 GM9 I HN9 HO9 HP9 I 1Q9 IR9 1S9
6 3 4

Let’s consider box AL1 (with number 5) - Since it has a number in it, | would like to write an array
showing this number only (5)... If it were empty( null), | would like to write an array showing all the
numbers | cannot use, instead... (1, 3, 4, 6, 7, 8) and therefore those | can use [2, 5, 9]

AK1 ALY AM1 I BN1 BO1 BP1 I Q1 CR1 st
5 3 7
AK2 AL2 AM2 | IEX B02 BP2 | 2 cR2 cs2
7 4 8 9
AK3 AL3 AM3 I BN3 BO3 BP3 I Q3 R3 cs3
1 4
|
L —
DKa bL4 DpM4 . I ENd £04 EP4 I FQ4 FR4 Fs4
3 1
DKS bLS DM5 I ENS E0S EPS I FQs FRS FS5
7 2 5 6
DK6 DL6 DM6 I ENG E06 EP6 I FQ6 FR6 FS6
6 1 8 3
GK7 6L7 M7 I HN7 HO7 HP7 I 1Q7 R7 157
1 5
GK8 L8 M8 I HN8 Hos HP8 I 108 IR8 1s8
2 4 9 8
GKo Lo Mo I HNY HO9 HPO I 1Q9 RY 159
6 3 4

| just cannot find the right routine




